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(A) Chiorin®

Fﬁ:' lron
() I.|.||.|;|lrl'l“

s
() None of the
attle between

aus
9. In 1526 the fﬂ_‘:‘ diwac_.fou‘ght at
gabar and lbrah! ewari
(A) Hurukrzhetﬁl [Dh Jil'ld
(C) Panipat
jn the space
3. Kalpana Chawla died
mission on
(A) 1" Feb., 2003
() 1*Jan,, 2004
(c) 2" March, 2004
(D) 2™ April, 2005
4. Who was the first Governor of
Haryana ?
(A) Dharamveer -
(8) B.N. Chakravarty
(C) R.S.Narula _
(D) Dhanik Lal Mandal

5.  Which breed of buffaloes is famous
in Haryana ?
(A) Jaffarabadi
(B) Murrah
(C) Surati
(D) None of these

6.  'Haryana day'is :
(A) 1% anemb;e “brded on
(8) 13" October
(C). 1" December
(D} 1% January

!
] | =
j 7. Where i5s the Mlﬂ]l*"
situated 7 R L
- _.W Ambala
(C) Fatehabad
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10,

11,

2

:ﬁtﬂ Jutsi the famous player of
Yana is associated with

Ho

m L Many seats are allotted for the
SMbers of Rajya Sabha from
9Yana State 7

)i
(8) 8
(© 10 (D) 12

Who had launched ‘Sandesh’ weekly
Magazine ?

{A] Chhotu Ram

(8) Hemchandra

(C) Nekiram Sharma
(D) None of these

What is the script of Ashoka Stambha ?
(A) Brahmi (B) Kharoshthi
(C) Pali (D) Sanskrit

Which is the official language of
Haryana ?
(A) Urdu
(C) Hindi

(B) Gujarati
(D) Haryanvi

Which Chief Minister of Haryana
became Deputy Prime Minister ?

(A) Bansi Lal
(B) DeviLal

(C) Bhajan Lal
(D) Hukam Singh

which state is to the east of Haryana ?

(A) Raj_aﬁthan
[E]' Jammu & Kashmir

(C) Gujarat

(D) Uttar Pradesh
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15. Which is the largest city of H'-"‘r'ﬂlm
State according to area !
(A) Faridabad (B) Hisar
{C} Gurgaon (D) Ambaia

16. Which King was popularly cafjay
Hemu ?
(A] Samrat Hemchandra \’ikramaﬂnwa
(B) Muhammad Ghorl
(C) Harshavardhana
(D} Akbar

LA

17. King Harshavardhana established his
capital at Thanesar near Kurukshetra
in the
(A) 8" Century AD
(B) 7" Century AD
(C) 8" Century AD
(D) 3™ Century AD

AN

18. Badkhal Lake j5 a natural lake
situated in of Haryana
State.

(A) Hisar (B) Panchkula
(C) Kurukshetra (D) Faridabad

19. National Dairy Research Institute
(NDRI) headquarters shifted to
Karnal in the year
{A) 1960 (B) 1950
(C) 1955 (D) 1965

20. Which district is declared 35 22™-

district of Haryana ?
(A) Charkhi Dadri
(B) Nuh

(C) Palwal

(D) None of these

21. Whe is the Agriculture Minister of
Haryana State ?
(A) Shri Ram Bilas Sharma
(B) Shri Anil Vij
[{:] Shri Omprakash Dhankar
(D) None of these
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D, rhmt'.n:nh power iy Indio
;"fth o Iﬂpj\ﬂl 'I,j.lﬂ_l|I J“-'-HLI.'I'-II
A) C
U
(€ Cri:iﬂ“ (B) Dalhousie
7 (D) Canning
B wy
4]
""ﬂr‘tiqp:{ .Ihl? mrmm.,ﬂ did not
(A) € In the revolt of 1857 7

(& :‘am Laxmibai
anaSaheh
:Dj TanwaTupe
) Chal':draf.hekharmad

24, L
f';rea-w-_:.e which of the following is
fEest state of India 7

:?} Uttar Pradesh (B) Gujarat

) Maharashtra  (p) Rajasthan
25, Stockholm is the capital of

(A) Sweden (B) Norway
(C) Belgium (D) Denmark

26. Who was the chairman of the
commission set up to review the
Centre-State relations ?

(A) Manmohan Singh
(B) Swarn Singh

(C} P.N.Bhagwati
(D) R.S. Sarkaria

27. The normal tenure of the U.N.
Secretary-General is
(A) 3 years
(C) 5 years

(B) 4 years
(D) 6 years

28. Whose signature appears on 100-
rupee notes ?
(a) the RBI Governor
(B) the Finance Minister
(C) the Secretary, Ministry of Finance
(D) the President

with which historical personality Is
Y the Raigarh fort associated 7

(A) Rana Pratap

(B) Sivaji

(€) Akbar

(D) mMuhammad Tughlag
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24,

25,

26,

27.

28,

29
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When did Mother Teresa receive gy,

“!31&1 Peace Prize ?
(A) 1930
(C) 1968

(8) 1913
(D) 1979

Which of the following s thel

nahmai tree of India ?
_{A} Banyan tree (B) Neem tren
(Q) Coconuttree (D) Mangotre,

.Ehllk-a lake is in
(a) Rajasthan (B) Odisha
(C) Bihar (D) M.P.

Wﬁ&t"ﬁués the term “Third World”
mean ?

(A) The Communist bloc led by the

~ Soviet Union
(B) The developing countries
{ﬂl The petroleum-rich countries

{D) The Western bloc led by the

US.A.

In which year was Hindi came into
EﬂECt aﬁ thE official language of the

(B) 1969

- ?&gsv:;, (D) 19;'2' :

: : From which country was mamﬁm

3N l‘ ﬁﬁﬂl Union  (8)
' ',.;'w Frhnce .

TR sy
Mﬁﬁfe ‘Aryabhatta launched in

) usé,.,, '

30.

31.

32.

33.

s 4 A i GREER T
fepan & ?

(8} 1930 (B) 1918
(C) 1968 (D) 1978
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(B) fwrmefic <
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(A) 1565
Q) 1971

(B) 1988
(D) 19.:‘2':
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39,

41.

42.

P |
" lh"" .i‘h].qh T I"‘I” I
) S the | quaton
(C BAr the Poles
} "N
{ 1L TF[m“_ of Cancer
N the Tropic of Capricom

fth:-.: the following planets has
ural satellivps ?

lupiter (B) Neptune
{Ci Ul‘ﬁl‘lup, [D] Venus

Where is the permanent Secretariat
of SAARC located ?

(A) Dhaka (B) Karachi
(C) Delhi (D) Kathmandu

Who was the first Secretary General
of SAARC 7

(&) Abul Ahsan

(B) Benazir Bhutto

(C) Indira Gandhi

(D) Dr. Shridath-Ramphal

Which of the following gases do
plants and trees give out during
photosynthesis ?

(A} Hydrogen

(B) Nitrogen

(C) Oxygen

(D) Carbon dioxide

Name the branch of science which
deals with the study of sound and
sound waves.

(A) Aeronautics
(C) Aerostatics

{B) Acoustics
(B} Aetiology

What is the duration of the
president’s rule in a state in the firgt
instance ?

(A) One year

(B) Six months

(c) Three months

(D) Four months
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45,

47.

NITI Aayog has replaced the

{A) Natlonal Development Councl)
(B) Planning Commission

(€} Election Commission

(D} Finance Commission

At what temperature does silver
melt ?

(A) 2750°C (B) 327°C

(C) 961°C (D) 100°C

Which of the following is inducted
inte the 2016 ICC Cricket Hall of
Fame ¢

(A} Saurav Ganguly

{8} Muttiah Muralitharan

(C] Anil Kumble

(D) Sachin Tendulkar

48. The Indian Olympic Association (IOA)

49,

50.

51,

was announced a cash award of _____
for the gold medal winning athlete in
the Rio Olympics.

(A) ¥ 20Ilakh (B) T 25 lakh

(C} T 50 lakh (D) 710 lakh

Which State Gowt., recently launched
Quit India 2 — from Swaraaj to Suraaj
initiative to mark the 75" Anniversary
of Quit India Movement ?

(A) Maharashtra

(B) Madhya Pradesh

{C) Rajasthan

(D) Gujarat

Who takes oath as the New Chief
Minister of Gujarat ?

(A) Anandiben Patel

{B) Nitin Patel

(C) Vijay Rupani

(D) Amit Shah

Who won the Wimbledon 2016 men’s
single title /

(A) Roger Federer

(B) Andy Murray

(C) Milos Raonic

(D) Noneof these
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52,

34,

S5,

56.

57.

;?:f:hﬂﬂln of words are given, out of

G, the words in three palrs bear a

e N common relationship. Choose

dmﬂrpmr in  which the words are
ently related

(A) Shopkeeper Customer

(8) Doctor - Patient

(€) Lawwr:(:hem

(D) Clerk : File

Choose the odd one.
(A) BdEg (B) KmNp
(C) Prsy, (D) Twxz

In the series 2, 6, 18, 54. ... what will
be the 8" term 3

(A) 4370
(C) 7443

(B) 4374
(D) 7434

In the given letter series, some of the
letters are missing which are given in
that order as one of the alternatives

below it. Choose the correct
alternative.

a__bech Ca__cca__baab_ ¢
(A) ababc (B) abcaa

(C) accab (D) bacaa

If ENGLAND is written as 1234526 and
FRANCE is written as 785291, how is

GREECE coded ?

{A) 381171 (B} 381191
(C) 832252 (D) 835545
Evaluate : ﬂ&ﬁ&%

(A) 1213 (B) 1223
(c) 1233 (D) 1243

re divided among A, B, C such
: ﬂi; share Is ¥ 20 more than [y
;l::r'zu less than €'s, What is the

H"‘i ,hare ?
(A) 2120
-'.'} 724

(B) 20
(D) 28
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59. The ages of two persons differ by 20
years. If 5 years 080, the elder one
be S times as old a5 the younger one.
Their present ages (in years) are

spectively
::}pzﬂ. 20 (B) 20,10
(C) 25,15 (D) 30, 10

80. A can finish a work in 18 days anld B
can do same work in half the time
taken by A, then working together,
what part of same work they can
finish in a day ?
(&) 15
(€ 17

(B) 1/6
(D) 1/8

61. An athlete runs 200 metres in 24
seconds. His speed is
(A) 10 km/hr {B] 17 km/hr
(€} 27km/br (D) 30 km/hr

62.  Which metal found in free state ?
(A) Sodium {B) Calcium
(C) Aluminium (D) Platinum

63. Diamond is an allotropic form of
(A) Siicon (B) Carbon
(€} Sulphyr (D) Germanium

L TR e ——

me pr i '
which breaks davwﬁ stzri:f;t A
(A) Lipase (B) Pepsin
€] Amylase (D) Renin
1 Tis
7 ﬂ;:; :':;? transpory Water in plant
(B) Phlgem fibre
(C) Xylom
(D) Nonea of these
66, A dra
o ecc o ™ Mgt
(A Generator
(B) Motar
(C) Ammeter
() Gm‘vanamerer ‘
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Ut of i
the the given alternatives, choose

Mean; Which best expresses the
SU f'?g SL tshe given word. e
(c) aAvish (B) Fancy
& & Meagre (D) Irritable
2 00
'Tleansiﬁ : € word opposite in
':'DSSETE o the given word. 77.
}g‘; Neglect (B) Divert
amper (D) Pinch
69. Out of 4, i
4 e four alternatives, choose
one which best conveys the
ﬂ'lneaning of the phrase.
remove the skj
?fange_ e skin of a potato or an
A) Rinse ] Peel
(C) Scrub (D) Remove T

70. Fill in ‘the blank with appropriate
Preposition choosing cne from the
four alternatives given below the
sentence :

Please pay attention _. _ what
the speaker is saying.

(A) to t8) for

(C) of (D) with

71. Choose the correctly spelt word.
{A) Phiharmaonic
(B}~Philharmonic
(C) Philharmoic
(D) Philarmonic

=t um
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8. Which committee has submitted its
féport on New Education Policy In
May 2016 ?
(A) Ashok Dalwai Committee
(B) 1. Rajput Committee
(C) T.S.R. Subramanian Committee
(D) Sudhir Mankad Committee

B83. Garba a popular folk dance is
associated with which Indian state ?
(A) Maharashtra (B) Gujarat
(€} Rajasthan (D) Haryana

84. In the context of the Indian freedom
struggle, 1905 is well known for
which one of the following reasons ?
[A) Partition of Bengal was done
(B) The formal proclamation of

Swadeshi Movement was made
(C) Dadabhai Naoroji declared the

goal of Indian National Congress
(D) Lokmanya Tilak started

Swadeshi Movement in Poona

B5. Which one of the following has the
least population ?
{A) Dadra and Nagar Haveli
(B) Lakshadweep
C) Andaman and Nicobar Islands
(D) Daman and Diu

86. What is the term fixed for the
members of Rajya Sabha ?
(A) 3 years (B) S years
(C) 6 years (D) 7 vyears

87. Arrange the words given below in
proper order and choose the most

dppropriate sequence from the
alternatives provided below the
question.

1. Shoulder 2. Wrist

3. Elbow 4. Palm

5. Finger '

(B) 3,4,52,1
(D) 2;4,5,3,1

(A) 5,4,2,3,1
{c} 3: J'J 4!‘ '2! 5
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wd 2016 A fEd wfinfer A & fen e ax
agr (R st 1 ?

(A) et aorard W

(B) SFLUH. S wfafa

(), .53, GarHTa afAfe

(D) ik wiweg wiAfk

B2.

83. g e eal Rt AR XIS
¥ HefiE € ? '
(A¥ TERTE
(C) NToIReT

(B) IR
(D) &fR=mn

84. WRd % waefar wom % uRyew F,

1905 Fre s v 3 guitg &7

(A} &¥rc @7 faarsr

(B) waedf siieta &l afrraiRe wmon

() == ARG A uREE s
B BT eley Tt fa |

(0) g foesd 3 g H Eed
ETer &1 o fban |

85, P iR g aeti a9 8 ?
(A) ETERTHUT TR Ed
) wEE
(§ o= vd Felar fivge
(D) B9+ 3l da

86. WS WM % W BT BT e
et R qar i
(A) 339
(& 6

(8) sad
(D) 7ad

87. ﬁﬁféq?mmﬁaﬁqﬁ;ﬂiﬁﬁﬁ
g #n siv e F A R o

ﬁﬁ@ﬁﬁﬂﬂﬁﬂvﬂmwﬁﬁm
1. _ & 2. o

3. . Fled 4. EY

5. el

-Wg,g,g,_a:,ﬂ:h. (B) 3,4,5,2,1
(C) 3;1,4,2,5

(D) 2,4,5,3,1
42
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93.

Afrange  the given words in

alphabetical order and choose the
one that comes in the third position,
(A) Alive (B) Afforest

(C) Anticipate (D) Appreciate

Choose the correct alternative.
Scribbler : Write : Stammerer : ?
(A) Walk (B) Play
(C) Speak (D) Dance

In the following four words, three
are alike in some manner and the
fourth one is different. Choose out
the one.
(A} Boat
(C) Ship

{(B) Aeroplane
(D) Submarine

Choose the missing terms out of the
given alternatives.

AZ X, B,V,T,CR,2,?

(A) P,D (B) E.O

(C) Q,E (D} .0, Q

if the cost price of 12 pens is equal
to the selling price of 8 pens, the
gain percent is
(A) 12%
{C) 50%

(B) 30%
(D) 60%

Five years ago average age of P and
O was 15 years. Average age of P, Q
and R today is 20 years. How old R
will be after 10 years ?

(A) 32yrs. (B) 25 yrs,

(C) 35yrs. (D) 30 yrs,

ber which gn

d the greatest NHMNBAFW

;I':idins 1661 and 2045, leaves 5
i er of 10 and 13 respectively,

d _
"‘E"'“'LS (8) 127
:2: 55 (D) 131
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o5, l2a3)sx3er

Gupgnt
(A) 1 (8) 3
{C) 9 (D) 2

96. A leak in the bottom of a tank can
empty the full tank in 6 hours. An
inlet pipe fills water at the rate of 4
litres a minute. When the tank is full,
the inlet is opened and due to the
leak the tank is empty in 8 hours.
The capacity of the tank (in litres) is
(A) 5780 litres (B) 5770 litres
(C) 5760 litres (D) 5750 litres

97. Blaise Pascal is associated with
:1 (A) Calculating machine
(B) Computers
[C) Cinema
(D) None of these

98. The process of transfer of heat by
matter  but  without ° actual
movement of the  particles
themselves is called

(A) Conduction
(8) Convection
(C) Radiation
(D) None of these

99, Which of the following is known as

‘Laughing Gas' ?
(A) N0 (8) SO,
(€) co, (D) H,S

100, Which drugs are used to lower the
body temperature ?

(A) Antipyretics

(B) Sedatives

{C) Antibiotics

(D) None of these

96.

97.

g" %3 g
3
A ﬂ 2
(C) 2 (
Maﬁaﬁﬁﬂﬁﬁmﬂﬁﬂéqgﬂ

a3} ) w0 B &, gt e e
ngﬁmqa;mﬂraaﬂaﬂéﬁ
ma-manﬂaﬁaﬁmm{%ﬁﬁ}%

(A) 5780 fex . (B) 5770 1T
(cf s760fex (D) 5750 fres
21 T 1 ey e Wi E ?
(A) uR@a-43

() @geN

(C) R

(D) = 1 i T

wersf % ER SO0 B ARV 3
wferar, @i & famr anafae Tk ge

B TEaR

98,

100.
" sl < i R s 2

14

(A) =T
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